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I xma - dispute 0'non/r™ about validity of stolen 1210 or 120 built in 9”M
a. 77 dispute (re N5 N2 ) only about a case where he throws the fellow out of his own n2o
i. 71 invalidates — as he requires ownership of no10
1. If: we hold that ypp can be stolen (land-grab) — it is 51
2. And if we don’t accept n9m1 Ypp, it is a “borrowed” N0 — not RxY
ii. pwom validate — no rule of "n2%” for noyo
1. Since: yp7p cannot be stolen, it is simply a “borrowed” novo >may fulfill with it
b.  However: if he stole the materials to build his own n21v, all agree that N2 is valid
i. And: victim can only claim n>¥y »nT (v1 nipn) — but may not demand materials be returned
ii. Source (for defining our 73wp as a case of 1910-grab): from juxtaposition of Y113::1"7M7 in our MwnN
1. Justas:9"n1 - the land is not his
2. Similarly: n%m - land is not his
c.  Story: women whose wood was stolen by Xm93 v»'s servant to build his n210 came to complain to 1"
i. 277 all she gets is nxy "7
d. ~227 the rabbis applied wn mpn to a stolen beam for a N2
i. Challenge: how is this different than 3"1’s ruling (should be obvious)
ii. Answer: perhaps a beam is harder to replace and thief must deconstruct 120 to return — 5"np
iii. Note: the application of w1 mpn only applies during m2v;
1. Afterwards: must take apart and return original materials
2. However: if he attached it with cement, even after m210, only has claim for nxy 'm7
I xna —records N '7’s dissent in validating warn 255
a. ~27 dispute is only about 2%% (and naw oTh)
i. 227 read wp>n between 2%Y:1INR; just as MINR requires 110, so does 1915
ii. /777’7 does not read that wpn
1. However: all agree that »an® must be 171 and is invalid if w2
iii. Challengel: n'mi "1 seems to require 171 for 255 as well
1. Per: his ruling that 29 requires TR
2. Rejection: he requires TR due to definition of 255 — "ma” — read mad
iv. Challenge2: he seems to require 171 as he demands that 259 be bound »na
1. Rejection: X211 rules that even “unattractive” parts of palm may be used
2. Rather: his reasoning is due to concern about gon 2 (if it is a 5% pn)
v. Challenge3: nmn 1 apparently does not require 7710 even for nInR
1. Per: xn»11, where he explicitly — and contra 1331 - allows dried oon
a. And: he backs it up with the 02373 12 who would use n’a%»% from year to year
b.  Proposal: he was only referring to 2919, not »nx
c.  Note: in that 8n»13, he disallowed a 5% pn
i. Justification:R"70 if it were outside of TR — not oI Ya - 5"np
d. And:in that xn» 1, we disallowed use of a “substitute” for nnx
i. Justification: ®"1o we should use it, so as not to forget nInNx n1n - 5"np
vi. Challenge4: i "1 explicitly (again, contra 1327) allows an ‘old” »nx —
vii. Conclusion: X17's “split” is rejected and nTn’ " interprets 771 as something other than “beauty”
1. And: he interprets 171 as that which resides (17) on the tree from year to year
2. Note: his rulings about green and small nn nk are grounded in definition of 819 9
III. Analyzing invalidity of n1wR Y® 9% (in our Mmwn) - aligned with nnTIn Y Y 2N
a.  Challenge: 8211 ruled that if he uses 1"y Yw 1919, he has fulfilled the mxn (Tayr11)
i. Answer; we are referring to nwn Yv nPWR (i.e. already planted before we arrived in »x)
1. Rationale: since we are obligated to destroy it, 1w is “non-existent”
2. Support: similar to nnTan Py — slated for destruction
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